
20172 − 20162

20162 − 20152
=

4033

4031

4031

4029

4035

4033

4033

4029

15 16 17 18

2x − 1

x − 2
≤ 1 ?

2 3 4

y = f(x) (1; 0) (2; 2)
f(3)?

3 4 6

x1 x2 x2−20x+16 = 0
1

x1

1

x2

x2− 5

4
x +

1

16
= 0 x2− 4

5
x +

1

20
= 0 x2+

5

4
x +

1

16
= 0 x2+

4

5
x +

1

20
= 0

�ABC AB = 6 BH <ABH = 60◦

<CBH = 45◦ BC

3
√

3 3
√

2 3
√

6

ABCD AD = 2, BC = 5 AD→ BC→

F CF = 3 DF

3 4 5 6

y = 2x2 − 3x + 1
x ∈ (−∞; +∞).

y = −2x2−3x−1 y = −2x2−3x+1 y = −2x2+3x−1 y = 2x2−3x−1

√
61

√
109

√
37

√
65

√
71

f(x) = x2 +
√

20x+7. m
f(u) + f(v) > m u v

ma
th-
bg
.co
m(

66

xx22−−2020x

55
xx ++

11

ma2020
=

66


